
02/2023Technische Zeichnung, Technical drawing,
Dessin technique

Page 1/1Electric Beveler 45/10.6



Beveler 45° / 10.6 | 495010
ITEM PART NO Q’TY PART NAME Price in € excl. VAT
1.) MAEB1201 1 POWER SUPPLY CABLE 1.5 x 2C x 3M VDE 24.06 €
2.) MAEB52 1 CORD ARMOR 2.13 €
3.) MAEB51 1 CABLE CLIP 0.54 €
4.) MAEB61 2 SCREW M4 x 14 0.54 €
5.) MAEB1205 1 SWITCH 220V LOCK-ON 25.66 €
6.) WS031 6 SCREW M4 x 30 0.54 €
7.) MAEB62 4 SCREW M4 x 16 0.54 €
8.) MAEB1208 1 RIGHT HANDLE COVER 8.56 €
9.) MAEB1209 1 LEFT HANDLE COVER 8.56 €
10.) MAEB1210 1 ELECTRONICS UNIT 220V 138.46 €
11.) MAEB1211 1 THUMB WHEEL 2.13 €
12.) MAEB31 4 SCREW M4 x 8 0.54 €
13.) MAEB1213 2 BRUSH SPRING 1.61 €
14.) MAEB1214 1 CARBON BRUSH SET (2 PIEC) 7 x 11 x 17 +33L+FLDN 15.43 €
15.) MAEB1215 2 CARBON BRUSH HOLDER 7 x 11 3.74 €
16.) MAEB03 1 SCREW M4 x 10 0.54 €
17.) MAEB1217 1 FLAT WASHER φ4 x φ10 x 1 0.54 €
18.) MAEB1218 1 PLASTIC WASHER φ4 x φ11 x 1 0.54 €
19.) MAEB1219 1 PICKUP MAGNET φ8 x φ15 x 5 2.13 €
20.) MAEB1220 1 SPACER φ8 x φ12 x 10.5 1.61 €
21.) MAEB1221 1 MOTOR HOUSING  20.85 €
22.) MAEB1222 1 STATOR 220V 66.83 €
23.) MA3514 2 SCREW M5 x 60 0.54 €
24.) MAEB1224 1 FAN BAFFLE 8.56 €
25.) JEP23014 1 BALL BEARING 608 zz  NMB 6.95 €
26.) MAEB1226 1 ARMATURE 220V 94.62 €
26-1.) MAEB12261 1 SPIRAL BEVEL PINION M1.5 x 12T 26.19 €
27.) MAEB1227 1 BALL BEARING 6001LLU TPI 18.71 €
28.) MAEB1228 1 GEAR CASE 93.02 €
29.) MAEB1229 1 SPINDLE LOCK BUTTON 2.13 €
30.) MAEB1230 4 WASHER φ6 x φ13 x 1 0.54 €
31.) MAEB1231 1 SPINDLE LOCK 3.21 €
32.) JEP32014 4 SCREW M5 x 40 0.54 €
33.) DP031 1 NEEDLE BEARING HK 0810  KENT 3.74 €
34.) MAEB1234 1 SPIRAL BEVEL GEAR M1.5 47T 93.02 €
35.) MA5030 1 INTERNAL CIRCLIP R-47 1.07 €
36.) MAEB1236 1 EXTERNAL CIRCLIP S-20 0.54 €
37.) MAEB1237 1 BALL BEARING 6204LLU TPI 33.14 €
38.) MAEB1238 1 PARALLEL KEY 5 x 5 x 12 1.61 €
39.) MAEB1239 1 SPINDLE 77.52 €
40.) MAEB1240 1 INNER SUPPORT BARREL 125.63 €
41.) MAEB1241 4 SOCKET CAP SCREW M5 x 25 0.54 €
42.) MAEB1242 1 DIAL RING 40.63 €
43.) MAEB1243 1 SET SCREW M4 x 6 0.54 €
44.) MAEB1244 1 SUPPORT DECK BODY 107.46 €
45.) MAEB39 2 LOCK KNOB M5 x 16 6.95 €
46.) MAEB1246 1 SUPPORT DECK PLATE 41.16 €
47.) MAEB04 3 SCREW M4 x 12 0.54 €
48.) MAEB31 6 SCREW M4 x 8 0.54 €
74.) 495011 1 INDEXABLE CARBIDE INSERT SET (6 PIECES) 140.80 €
54.) MAEB1254 1 SHOULDER BOLT M6 7.81 €
55.) MAEB1255 2 SCREW M5 x 15 0.54 €
56.) MAEB1256 1 MOTOR REST 4.81 €
62.) MAEB54 1 TORX WRENCH T15 8.02 €
63.) MAEB55 1 HOOK SPANNER WRENCH 20.32 €
64.) MAEB56 1 SPINDLE LOCK BAR 2.67 €
65.) MAEB1265 1 FRONT HANDLE 33.68 €
66.) MAEB1266 2 SOCKET CAP SCREW M8 2.67 €
67.) MAEB1267 4 SPRING WASHER M5 0.54 €
68.) JEP23064 1 HEX WRENCH M6 1.61 €
75A.) 495012 1 TOOL HOLDER ASSEMBLY 45° 45° 200.20 €
75B.) 495015 1 TOOL HOLDER ASSEMBLY 30° 30° 200.20 €



Beveler 45° / 10.6 | 495010
75C.) 495016 1 TOOL HOLDER ASSEMBLY 37.5° 37.5° 200.20 €
70.) MAEB1270 4 FELT COOLING SLOT FILTER 45*55mm(TBAH35001 1.61 €
71.) MAEB1271 1 FILTER FRAME-L 1.61 €
72.) MAEB1272 1 FILTER FRAME-R 1.61 €
73.) MAEB1273 2 PLASTIC WASHER Ø5.1 x Ø12.5 x 2.3 3.21 €
74.) 495011 1 Carbide Insert 6 Pieces Box 140.80 €

MAEB12BOX 1 CASE BEVELER 45/10.6 55.00 €




